Title:|Example Rocket Motor

utilizing KNSU propella

nt.

Hint! To directly convert inches to mm, simply type =25.4*number where number is dimension in inches

lFopueHna kamepa:
Dc mm
Lc mm
Ve 147781 mm®
FopuBHK 3apagu:

Tun Ha ropueoto|  KNSU s

Bobrpewen gunamersp
BbrpelwHa AbnxiuHa
Obem Hakamepata (npazxa)

See Note [1] below

Do 28.,00{mm BbHWweH guamersp Kn vs Web Regression
do 10{mm Jlnametbp Ha kaHana (BbTpeLueH)
Lo 240,00{mm JbnxuHa Ha cermenTa 300 10
N 1 Bpoil Ha cermenTuTe (3apagute) 250 | P9
BbHwHa nosbpxHocT:|  Inhibited Inhibited - 3aujurena / Exposed — Otkpura B
cbpuesuHa:| Exposed Inhibited - 3auurena / Exposed — Otkpura 200 7 3
OvHa:| Exposed [s=i=ct  Inhibited - 3awurena / Exposed — Otkputa 16 B
Lge 240 mm Ofwa gbmkuHa Ha 3apaga Kn 150 - +5 E
Vg 128931 mm®  OBem Ha 3apAaa (MbPBOHAUANHo) 100 T4 ;
] 1 L
Vi 0,872 ObBemMHa NNBLTHOCT Ha 3apAAa : g
p’ grain 1,889 g/cm®  WgeanHa nnbTHOCT 50 :
CuoTHOLWeHWe (peanHa/geanHa) 0 0
p grain 1,851 g/cm®  Peanna nnuTHOCT 5, E 3 &
m grain 0,239 kg. Maca Ha 3apAaga (nbpeoHauyanHo) — )
Abeo 1074 mm?  KpaitHa nnoly Ha ropeHe (HavanHa) eb Regression (mm)
Abco 7540 mm®  OCHOBHa NNOLL, Ha ropeHe (HauanHa)
2
Abso 0 mm2 BBHLIHA NOBBLPXHOCT HA ropeHe ki e
Abo 8614 mm Obwa nnouw Ha ropeHe (Havana) 1) m
Target MEOP::esecr Makcumanuo Hanaraxe B kamepara (uen)
Kn max: 248 CbOTH. Ha ropAwlata nnowy, / NNoLLa Ha KpUTHY. CeyeHne Kn max 248
Conno([w3a) Ato 79 mm®  nnoLy Ha HanpeyHoTo ceyeHne — Kput.ceyeHne Ha connoto Kn min 109
Dto 10,013 mm [nameTbp Ha KpUT.CEYeHNe Ha connoTo (gr3ara) Knavg 182
Chamber Pressure vs time SRM 2013 '\)fnnguuer Pressure vs time
7.0 1000
PakeTeH [iBuraten - HanaraHe B kKamepara T 60 | = 900
= 2 800
=50 @ 700
2 40 2 600
R 83140 Byl £ s00
‘mol-K YHuBepcanHa razoea KOHCTaHTa S 30 S 00
M 41,98 kg/kmol EdexTiBHa monapHa maca Ha NpoAyKTuTe 5 20 E 200
R 198.0 J/kg-K CneuyduyHara razoBa KOHCTaHTa e E S0 |
k 1.139 CbOTH. Ha CneuuduuHITe ToNNuHK g 10 S 100
nc TopusHa edekTusHOCT 0,0 0
To 1720 K TeopetuuHa Temneparypa Ha ropexe 0.0 02 04 06 0.8 0.0 02 04 0.6 038
Toact 1634 K PeanHa Temnepatypa ropexe ' - ' ' ) - ' i
Patm| 0,101|MPa BuHLWHO HanAraxe — atm. e (8e¢) e (s2c)
o 894 m/s CKOpOCT MaTuyaLLuTe rasose
e 3 Mparoe KoeUUMEHT Ha ePO3UOHHOTO FOpeHe Pmax = 5,92 MPa Pmax = 858 psi
ki 0 Koed. Ha yBenuueHMeTo Ha CKOpOCTTa ropeHe B peaynTar tburn = 0719 s tburn = 0719 s
Ha epo3uATa t thrust = 0.736 s t thrust = 0.736 s
» Cli Click to solve o
ick to solve (2) | [N ) <=Note: In case of non-convergence to zero, change value in this cell to a small "seed" value (e.g..01)
xinc.  0,0108 mm
Rocket Motor Performance
Thrust vs time Thrust vs
k 1.044 CbOTH. Ha cnew. TonnuHK B 2-Te hasu Ha noToka
1 noz E(eKTUBHOCT Ha CONNOTO 400 9%
Ae/Atl  1,00) CBOTH. Ha paaL TO Ha AK03aTa (| o) 30
Patm 0,101 MPa AtmocteHo HanaraHe 70
Ato 78,7 mm? KpuT. HanpeuHo ceyeHne Ha connoTo (HauanHo)
Ae 78,7 mm? W3x. nnowy Ha HaNpeyHo CeyeHne Ha connoTo 2 = 62
Meo 1,027 yucno Ha Max - Ha M3X0Aa Ha connoTo (HauanHo) i =50
Mef 1,021 yucno Ha Max - Ha uaxoaa Ha connoto (B Kpaa) g i3 %
De 10,01 mm WaxoaeH gnameTsbp Ha connoto = '-§
Ae/At opt 11,281 ONT. CTeneH Ha pa3luMpeHne Ha connoto npu Po max 0
Ae/At opt 7,681 OnT. CTeneH Ha pasLUNPEeHne Ha CONMOTo CPeAHD 20
wf 0,650' AebennHa Ha ropBOTO/BBHLLIHNA paguyc Ha 3apaga 2
CFmax 0,733 KoeduuueHt Ha TArata, Makcumanta
F max 347 N Makcumanha tara 0
It 159 N-sec.  OBuy umnync 0,0 02 04 08 08 00 02
Isp 67,8 sec. CneuuduyeH umnync Time (sec.) Time
Knac: & 3 Knacudukayna Ha gsuratena
F max = 347 N. F max = 78 Ibf
P  sove: Fag= 215N Favg = 48 Ibf
t thrust = 0.736 sec. t thrust = 0.736 sec
[ Po [ A T At | Ae/At | Pe TJAelAtopt]|Crsnnoz] F | [ & [ 1 7 Me) ﬁ
| Pa (abs) | m? | mm? | | Pa (abs) | | | N. | Ibf | sec. | N-sec. | |



9 Maca Ha 3apaga 0,239 kg.

10 0,526 |b.

11 OB umnync 158,7 N-sec.

12 35,7 Ib-sec.

13 CpepHa Tara 215,5 N.

14 484 Ib.

15 Tara- speme 0,736 sec.

16 Cneundunyer umnync 67,8 sec.

17 MoTtop Knacudukaumns G 215

18

19 [OaHHu Tara-speme [Bux 3abenexka 1] I

20 Time step 0,0355 cek. [Bux 3abenexka 2

21 o

22 Data pt. Time Thrust Thrust §

23 (sec.) (N.) (Ib.) 3

24 1 0,000 0 0 £

25 2 0,045 118 27 3

26 3 0,046 118 27 = Fi

27 4 0,088 130 29 i '
28 5 0,129 141 32 0.0 02 04 06 0.8
29 6 0,169 153 34 i

30 7| 0209 165 37 TR
31 8 0,247 177 40

32 9 0,285 189 43

33 10 0,322 202 45

34 11 0,358 214 48

35 12 0,394 226 51 )

36 13 0,429 239 54 5

37 14 0464 251 56 c

38 15 0.498 263 59 g




